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AR HEEE 80
BiarE 223
—herE 1,263

95%K#E x| 95%K#E x| 95%K#E Of 95%K#E x| 95%K#E x| 095%K#E x| 95%K#E x

<NAZF{E| <hAZFE| <HhAZFE| <HAZFE| <HAZFRE| <HhAZFfE| <H/AZFfE

=2361 pfli| =4.102 pfi| =33649 p| =3.032 pfli| =5644 pflE| =4.079 pfE| =0947 piE
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HHFSAL TR A=Y (Z 1)

A=Y (= 1# )

VEYH(ZHK)

VEYE (ZHK)
95%/K#E X <HAZF(E =17.382 pflE =0.2965 BHE=15>
SRR R FEEE 125 74.3 24 - 11.2 8.9 3.1 -
B 327 75.2 - 1.8 12.2 8.2 1.5 1.1
—iE 1,757 75.8 0.3 22 11.3 7.6 1.9 1.0
95%K#E O <HhAZ5F{E =20.346 pfE =0.0261 BHEE=10>
[£3%]
13 KEHDOFERERLEBITIHM
R (% ZR—VY
By | 850% |mrson|semus| 50508 | e | TED0
) YIRB
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EXL
24T R A=Y (ZHR)
SYH (ZHR)
VEYEF (ZHE)
VEYER (ZHK)
95%IKH#E x  <hA (il = 37432 pfE =0.1649 HEAME = 30>
HEEEHER HEEE 125 59.7 1.6 1.7 5.8 0.8 9.6
I 327 66.3 1.6 2.1 3.4 1.3 9.0
—E 1,757 64.1 2.1 45 15 0.9 9.7
95%K# O <hA (i = 35827 pfiE =00161 HEE =20>
13 KEOFHERLEGBITHR ES)
28 | mEm |Swros| 72| towm | mms
-
2 5 0.6 6.4 0.5 3.4 0.7
24 TR A=Y (ZHHR)
VEYE (ZHK)
95%K#E x <HA il = 37.432 pfE =0.1649 EFHE = 30>
SRR R HEEE 7 - 5.5 0.9 7.1 0.7
BB 6 1.0 438 1.3 2.5 0.8
—fEE 5 0.6 7.2 0.4 33 05
95%Kk# O <HA Z5f# = 35827 pfE = 00161 B =20>
[£%]
f14 SEBEEA F—LBTHER
g EH2KMH | #B1~2 | EB18M | 1:8HIC4 | 1EMIZ2 | 18RI | FAFAL mES
= Lt B LU ~5H ~3H A LY W=
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A TR SEYBR(CH#HE) 2,157 12.5 19.2 12.1 5.7 15.7 9.7 228 2.2
SEYBR(EH#HK) 234 17.2 225 15.8 5.3 14.8 6.9 14.1 34
VEYH (Z 1K) 311 18.8 18.2 15.4 5.4 73 115 205 28
VEYH (ZHE) 56 22.4 27.4 10.4 12.7 73 5.1 11.0 38
95%K#E O <HhAZHfE=57.368 pfE=0 BHE=18>
SRR R ] 125 25.9 26.9 10.1 3.7 7.7 49 19.1 1.7
SR 327 20.8 21.1 11.0 72 13.0 7.1 16.6 2.7
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24 TR AYER(ZHHR) 2,157 325 34.6 15.2 3.6 5.2 3.2 3.6 2.0
SEYH (ZHHK) 234 36.7 28.3 15.0 6.1 4.4 1.3 5.0 3.1
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95%7K#E O <HA Z5flE = 49.33 pfiE =00001 EHE =18>
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f14 FBHEC EATOREMDEY GEE. ENHZUVALL)

Eo
m
%
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EXLY 2,833 74 5.6 2.6 7.0 21.0 20.0 33.3 3.1
24 TR A=Y (ZHHR) 2,157 7.1 5.3 2.1 7.1 21.3 20.9 33.3 2.7
SYBR(Z1H) 234 7.7 7.8 3.1 8.9 19.0 15.4 33.6 44
VEYE (ZHER) 311 8.2 6.1 4.4 5.7 21.2 14.7 35.3 43
VEYH(ZHR) 56 1.4 1.8 3.1 7.0 19.9 29.8 23.1 3.9
95%K#E x <HA il = 27.251 pfiE = 00744 B =18>
SRR R HEEE 125 6.6 9.1 45 7.9 21.9 23.0 25.3 1.7
AiLE 327 7.2 6.9 4.3 7.1 20.3 20.3 29.5 43
—HerE 1,757 7.8 4.8 2.3 6.7 20.4 19.7 36.3 2.1
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SYH (ZHR)
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VEYH (ZHE)
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£k 2,833 22.7 18.8 17.5 33.9 7.1
je Ry ASEYR(CH#HRE) 2,157 24.0 19.9 17.7 32.1 6.2
SEYH (ZHHK) 234 220 17.4 16.4 35.7 8.5
VEYHR(ZHR) 311 17.0 12.8 15.9 44.1 10.2
VEYE (ZHK) 56 35 16.1 21.5 45.0 14.0
95%K#E O <HAZHfE=38945 pfE=0 BEHE=9>
SRR R FEEE
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—HfE

95%7K#E x <A ZFfE =5828 pfli =0.4427 BHE =6>
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24k 2,833 12.7 215 23.0 38.0 49
tHFERA TR A=Y (ZHR) 2,157 115 21.3 24.1 385 46
SYH (ZHR) 234 18.9 25.2 215 29.6 4.8
VEYEF (ZHE) 311 12.1 20.1 17.6 437 6.6
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EXL 2,833 8.6 23.2 273 36.6 4.3
24 TR AEYR(ZiHR) 2,157 8.8 224 28.6 36.2 3.9
SYH (ZHR) 234 5.1 28.0 255 36.7 4.7
VEYHR(ZHR) 311 8.3 23.7 21.6 40.4 6.1
VEYH(ZHR) 56 8.9 34.8 23.1 27.3 6.0
95%7k#E O <hAZFfE =18679 pfE =00281 BHEE=9>
SRR R HEEE 125 9.0 26.5 15.7 45.6 3.2
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244 TR SEYBR(CH#HEK) 2,157 1.4 39 9.5 79.6 56
SEYBR(EH#HK) 234 1.3 35 11.2 75.7 8.3
VEYH (Z 1K) 311 46 49 10.3 7241 8.1
VEYH (ZHE) 56 - 5.2 12.7 69.2 12.8
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VEYH(CHK)
VEYH(ZHK)
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R
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E
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21 TR AU (Z )
ASYBR (S 1)
VEYH(Z )

95%K#E x <HAZF(E =12498 pfE =0.1867 EIEHE =9>

HEREEER HEEE 125 4.0 13.4 9.7 68.3 4.7
I 327 5.7 17.9 14.7 55.1 6.4
—hefE 1,757 8.8 13.4 16.4 57.5 38

95%7K#E O <HAZHfE =16425 pfE =00116 EHHE=6>
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18 FHICHBELIHEE
LWDLER| BRBES | BRANZ .
EH | BiBre | KEoE | e ia POLER mms
=) 123.48) | 121.28) <
2 2,833 93.7 2.6 2.3 0.4 1.0
24 TR AYER(ZHR) 2,157 94.6 24 1.8 0.3 0.9
SYH (ZHR) 234 89.8 43 45 - 1.4
VEYE(ZHER) 311 91.4 2.7 2.6 1.9 1.4
VEYE (ZHK) 56 92.8 - 7.2 - -
95%7k# O <hAZFfE =34776 pfE =0.0001 HHEE=9>
SRR R FEEE 125 82.8 8.5 7.8 - 0.9
BB 327 92.7 3.1 3.6 0.6 -
—HerE 1,757 95.3 2.1 15 0.4 0.7
95%K# O <HAZHfE=49.383 pfE=0 BEHE=6>
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19 FHIT—#HKICHBELDIA [BEHEE]
= s | ZDHOR| i . RPN P
En | e |FEEO #(ExS FREAD| “ATRN BEEAR | mms
XS 2,833 725 61.1 3.2 0.4 135 0.3 15
R TR SEYBR(CH#EEK) 2,157 74.9 64.2 0.9 125 0.2 13
SEYBR(EH#HK) 234 68.1 60.1 155 15.6 0.9 1.9
VEYH (Z 1K) 311 63.3 49.0 24 185 1.3 30
VEYH (ZHE) 56 67.2 29.4 36.0 13.3 - 16
95%k#E Of 95%k# Of 95%k# Of 95%Kk# x| 95%Kk# O| 95%k# O
<HAZFMB| <hA ZFfl| <HAZRME| <HhAZFB| <h/ ZFfE| <H/ZRfE
=19.398 p| =49.086 p| =367.246 p|=3.83 pfE=| =10.113 p| =11.057 p|
fE=00002| fE=0 BE| =0 B[ 02804 HeE| fE=00176| fE=00114
BHE=3> E=3> E=3> E=3>| BHE=3>| BHE =3>

AR HEEE 125 61.4
BiarE 327 74.1
—herE 1,757 73.6

95%K#E Of 95%K#E x| 95%K#E Of 95%K#E x| 95%K#E x| 95%K#E x
<NAZRIE| <HAZFIE| <A ZRE| <h1ZFIE| <HIZFME| <HhMZFfE
=8376 pfi| =0816 pfi| =8.256 pfEi[ =0.367 pfl| =4597 pflE| =3.468 pii
=00152 H|=0665 Hf| =00161 H| =08324 BH| =0.1004 H| =0.1766 B
B =2> E=2>| hE=2>| H@E=-2>| @mE=2>| H@E=-2>

_15_



FHOEFEEREMEELR

ONEER ST+
INEAEE
[2%)
f20 FHICT—#ICYBELDIA [EHEE]
= N ELuI0ES o o=
= Rk (F&LS o | REEUS D — ATERR| 4T 1FAIE
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£k 2,833 91.9 63.5 8.3
je Ry ASEYR(CH#HRE) 2,157 93.0 66.2 4.1
ASEYBREH#ERK) 234 94.0 64.8 35.5
VEYH (Z ) 311 86.1 51.9 7.1

VEYR(ZHE) 56 87.7 35.3
95%K#E|  95%KHEE

O <H4| O <Hh«a
“RiE=| —RfE=
23262 plE[45474 ofE
=0 HHE|=0 BHE
=3> =3>

AR B HgEE 125
BiE 327
—hefE 1,757
Yoh/KZE Yoh/KZE 5
x <nd| x <n| O <nq| x <nq| x <nq| FE
ZRE=| —FE=| —FE=| —FE-| —FE= —®E=0
0.654 pfE| 0058 pfiE| 7.087 pfiEE| 4.006 pilE| 5263 piE E-1 B
=07211| =09714] =00289| =0.1349 =0072 &[>
pachpr —o| pphpr - ol fipher o echEr - ol tpr o] B 2>
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1EMIC4 | 1ERIIC2 | 18RI

EH |8BBEND ~5H ~3H BET ARG |mEE
2 2,833 74.0 14.8 7.4 15 0.9 1.4
tHFERA TR SEYBR(CH#EEK) 2,157 75.7 14.9 6.3 1.2 0.7 1.2
SEYBR(EH#HK) 234 67.2 18.4 8.6 3.0 1.4 1.4
VEYE (ZHE) 311 69.7 13.1 1.7 2.3 1.3 2.0
VEYF (Z 1K) 56 58.3 15.9 16.7 3.3 20 3.8
95%K# O <HAZH{H =35936 pflE =00003 HEE=12>
HEEEHER HEE 125 55.6 23.1 15.7 3.1 0.8 1.7
R 327 69.3 15.4 10.6 1.9 22 05
—H&E 1,757 76.7 14.2 6.2 14 0.6 0.9

95%K#E O <HAZHfE =44555 pfE=0 BHE =8>
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24 TR A=Y (ZHHR) 2,157 28.3 24.8 29.4 12.6 3.1 1.9
SYH (ZHR) 234 26.8 22.9 28.0 18.7 1.3 2.3
VEYE (Z ) 311 273 214 25.7 16.5 6.5 2.6
VEYE (ZHK) 56 33.3 31.0 22.9 5.3 5.6 1.9
95%K#E O <HA il = 29514 pfE = 00033 BHHE =12>
AR HEEE 125 19.6 240 23.9 22.6 8.1 1.7
BiarE 327 27.1 20.9 28.7 16.7 4.7 1.9
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2K 2,833 63.3 20.3 115 2.7 0.3 19
24 TR ASEYR(CH#HRE) 2,157 65.0 20.3 10.8 2.1 0.3 15
ASEYBREH#ERK) 234 59.6 21.1 11.3 5.1 0.4 26
VEYHR(ZHR) 311 57.1 20.6 12.9 5.2 0.7 35
VEYE (ZHK) 56 56.6 19.3 16.6 3.8 - 3.8
95%K#E O <HAZHlE =22946 pflE =00282 BHEE=12>
HERBER FEEE
Al
— BB

95%KH#E x <hAZF(E=12566 pfE=0.1277 BHE =8>
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24k 2,833 1.0 1.8 9.2 50.1 35.9 2.0
24T R A=Y (ZHR) 2,157 0.8 15 7.8 50.3 37.9 1.7
SYH (ZHR) 234 1.2 3.0 12.1 55.1 26.3 24
VEYEF (ZHE) 311 1.6 25 10.8 51.2 30.9 2.9
VEYER (ZHK) 56 3.6 20 20.3 37.7 30.9 5.4
95%K#E O <HhA ZHfE = 38082 pfl = 00001 EHHE=12>
HEEEHER FEEE 125 5.4 5.2 16.1 47.4 23.4 25
I 327 1.5 25 9.0 51.2 34.6 1.2
—E 1,757 0.7 1.7 8.1 50.5 375 15
95%K#E O <HAZFfE=515 plE=0 EHE=8>
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2 2,833 1.1 1.7 12.0 50.0 33.2 2.0
24 TR AEYBR(CH#HR) 2,157 1.0 1.4 10.8 51.6 33.5 1.6
SYH (ZHR) 234 0.9 25 15.3 49.6 28.4 3.2
VEYHR(ZHR) 311 20 3.0 15.2 436 334 2.8
VEYE (ZHK) 56 1.7 2.0 14.8 45.2 30.8 5.4
95%7K# x <HA 5l =20.357 pfE =0.0606 EEE=12>
SRR R HEEE
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—RE
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SYH (ZHR) 234 78.7 6.0 35 4.0 3.4 4.4
VEYEF (ZHE) 311 77.8 7.7 6.4 2.0 0.6 55
VEYER (ZHK) 56 89.2 1.8 5.6 - 1.7 1.7
95%7K# O <hA Kl = 23858 pflE = 00213 HEE = 12>
HEEEHER FEEE 125 68.5 7.4 5.7 7.6 5.5 5.3
AiE 327 83.7 5.2 5.9 3.2 15 0.6
—E 1,757 83.7 6.8 3.4 1.9 1.3 2.9
95%7K#E O <HAZFfE=4223 pfE=0 EHEE=8>
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EXL 2,833 58.0 31.9 8.7 1.4
tHFERA TR A=Y (ZHR) 2,157 59.2 31.1 8.4 1.4
SYH (ZHR) 234 52.2 332 13.6 0.9
VEYEF (ZHE) 311 55.8 34.8 78 1.6
VEYER (ZHK) 56 477 432 73 1.8

95%K#E O <H4/ZF(E = 13686 pfE =00333 EIEHE =6>
HEEEHER HEEE

95%K#E x <HAZF(E=5129 pfl=02743 BHE=4>

€39
BI86C SuEFFLKILERMNT D

EH [0t meesk | SYESE| mEs

EXL 2,833 4.7 36.0 57.5 1.8
tHERA TR AU (ZHR) 2,157 43 348 59.2 1.7
StYER(Z1K) 234 54 427 493 25
VDEYER (ZHER) 311 6.7 38.6 53.1 1.6
VEYER (ZHER) 56 5.9 448 475 1.8
95%K#E O <HAZFfE=14787 pfE=0022 HMHE=6>
L ERBE R HEE 125 8.8 30.9 58.8 15
R 327 46 44.7 488 19
—heE 1,757 44 35.7 58.7 1.1

95%K#¥E O <hAZFfE =17.036 pfE=00019 BHHE=4>

[£#%]
136D EUITHMTHDAFES

R [vovesr| maese | TARCE | mEa
[FeA{AY

2 2,833 66.2 24.2 8.2 1.4
244 TR AV (ZH#HR) 2,157 67.6 23.6 7.5 1.3
AV (Z#HK) 234 59.3 27.9 11.5 1.3
VEYHR (ZHR) 311 63.0 25.4 10.0 1.6
VEYHR(ZHR) 56 62.0 303 5.9 1.8
95% K% x <HAZ5fE = 12357 pfE =00545 BHE=6>

4R R REEE

95%KHE x <HAZRfE=3427 pflE=04891 BHHE=4>
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3%

HHFSAL TR A=Y (Z 1)
A=Y (= 1# )
VEYH(ZHK)
VEYH(=#K)

95%K#E x <HAZHfE=7.129 pfE =03091 BEHE=6>
SRR R FEEE 125 24 29.8 66.3 15
52 327 8.0 26.7 63.0 22
—HfE 1,757 3.8 26.9 67.9 14
95%K#E O <AHAZFfE=13217 pfE=00103 BHHE =4>
[£#]
H36F BN FEHEDIENHD
B |wobesr maese | TAUSE | mEs
&Ly
2K 2,833 7.7 51.6 39.0 1.7
tHFERA TR A=Y (ZHR) 2,157 7.1 51.6 39.8 15
A=Y (Z 1K) 234 10.3 51.9 36.5 1.3
VEYEF (ZHE) 311 12.1 478 38.0 22
VEYER (ZHK) 56 5.4 60.7 30.0 39
95%7K#E O <hAZFfE = 14644 pfE =00232 BHE=6>
HEREER FEEE 125 9.1 54.8 345 15
AiE 327 10.7 53.4 33.1 27
— BB 1,757 7.3 50.6 41.1 0.9
95%7K#E O <HA ZFfE =9.953 pfli =0.0412 BHEHE =4>
€39
R136G TR oIEL
Ea o |vobesk maese | TAESE | mEs
EXL 2,833 66.6 26.4 5.6 1.4
24 TR AEYR(ZiHR) 2,157 67.8 25.5 5.3 1.4
SYH (ZHR) 234 57.9 33.6 7.6 0.9
VEYE (Z ) 311 64.7 27.0 6.3 1.9
VEYE (ZHK) 56 61.7 33.3 3.3 1.8
95%7Kk#E O <hAZFfl =12735 plE =00474 BHEE=6>
SRR R HEEE 125 57.7 35.2 55 15
AiLE 327 60.0 30.7 74 1.9
—HerE 1,757 68.4 25.2 5.6 0.8
95%K#E O <HA ZfE = 12855 pfE =0012 BHHE=4>
[2%]
B86H BEAELLY
EH |oovese] maese| TAISE | mms
FLy
EXLY
21 TRl SEYBR(CH#HEK)

SYR(ZH#K)
VEYHR(ZHK)
VEYHR (=)

95%K#E x <HAHfE=1003 pfE=0.1234 EHE=6>
SRR R HEE 125 53.8 37.3 74 15
SR 327 63.4 275 7.2 19
—fE 1,757 67.4 27.3 43 0.9

95%7K#E O <hAZFfE = 14954 pfE =0.0048 BHEE =4>
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3%

je Ry SYH (ZHR)
SEYH (ZHHK)
VEYH (Z )
VEYE (ZHK)
95%K#E x <HAZH{E =3.424 pfE=07541 BHEE=6>

R REsE

95%7K#E x <AL ZFfE=7.093 pfli=0.1311 BMHE=4>

[£#]
E86J EZFTLTHHEANLLERS

ZATEZE
[E<AA)

E
=]
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B W23 ES BRESHE

2%

24T R A=Y (ZHR)
SYH (ZHR)
VEYEF (ZHE)
VEYER (ZHK)
95%KHE X <HAZFfE=6859 pfE=03341 EHEE=6>

RS REE

95%K#E x <HAZF(E=5.164 pfl=02709 BHE=4>

€39
86K PA5LBo-CEMFETED

EH |wotesn mees | TAUSE | mEs

3%

24 TR A=Y (ZHR)
SYH (ZHR)
VEYHR(ZHR)
VEYE (ZHK)
95%K#E x <HAFflE =3.186 pflE =0.7852 BEHE =6>

RS R REE

95%7KH#E X <HAZFE =5464 pflE =02429 BHEHE=4>

[2%]
fE36L L\ o3 D&SICfELTHELL

EH o (Lovesy| seese | TYESE | mEs
£

&k 2,833 435 426 12.2 1.7
A TR SYH (ZH#4K) 2,157 448 420 116 15
SYE (ZHK) 234 41.1 40.2 175 1.3
VEYH (Z 1K) 311 39.9 44.3 13.2 26
VEYH (ZHE) 56 315 55.6 11.0 18
95%7K#E O <h4A (& =12875 plE =0.0451 BHE =6>

RS REsE

95%7K#E X <AAZFfE=6416 pfli=0.1702 BMHE =4>
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3%

HHFSAL TR A=Y (Z 1)
A=Y (= 1# )
VEYH(ZHK)

VEYE (ZHK)
95%K#E X <HAZHfE =929 pfE=01579 HEE=6>
SRR R FEEE 125 61.6 345 24 15
52 327 61.2 315 5.2 22
—HfE 1,757 67.3 26.7 5.0 1.1

95%7K#E x <A ZFfE =7.791 pfli =0.0995 BHHE =4>

[£#]
86N ChL&FxR5

B [Losest maese | SAESE

E
=]
%

24k
21 TR AW (Z )
AU (S 1)

VEYF(ZHHR)
VEYER (ZHK)
95%KE x <HAZH{E=1915 pfE=09273 BHAE =6>
HEREER HEEE 125 8.1 55.9 345 15
I 327 5.9 54.4 37.8 1.9
—hefE 1,757 6.4 479 44.8 0.9

95%K#E O <HAZH{E=9629 pfE=00472 BHAEE =4>

€39
1360 #YIF>bDRNTD

EH |wotesn mees | TAUSE | mEs

3%

#H21FR AW (Z1#4R)
AW (Z1#{0)
VEYHR(ZHK)

95%KH#E x <HAZFflE = 6425 pflE =0.1696 EEHE =4>
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fi36P ELAATLTLICITRRITHEND

EH o (Lovesy| seese | TYESE | mEs
£

EXL
A TR SYH (ZH#4K)
SYE (ZHK)
VEYH (Z )
VEYH (ZHAK)
95%7K#E X <HAZFfE =5783 pfli =04479 BEEHE=6>
SRR R HEE

95%7K#E x <AAZFfE =7.053 pfli=0.1331 BHMHE=4>
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3%

je Ry SYH (ZHR)
SEYH (ZHHK)
VEYH (Z )
VEYE (ZHK)
95%K#E x <HAZ5fE =8762 pfiE =0.1874 BEHE=6>
SRR R FEEE 125 5.4 18.6 74.4 15
B 327 3.9 21.9 7.7 25
—HfE 1,757 2.3 18.4 78.0 1.3
95%K#E O <HAZHfE =996 plE=00411 HEE=4>

[£#]
EI86R LTHRELRNT D

B [Losest maese | SAESE

E
=]
%

2%

21 TR AW (Z )
AU (S 1)
VEYH(Z )
VEYH (=)

95%KHE X <HAZHfE=6.948 pfE=0.3257 EEE=6>
HEREER HEEE 125 16.7 34.8 470 15
I 327 11.2 39.0 476 22
— BB 1,757 8.5 36.2 54.3 1.0

95%K#E O <H4/ZF(E = 13682 pfE = 00084 EEHAE =4>

[2#]
f37A (RUST) FHOBBRERICHRETLSCENTE DG

E EOLC\J%T: A D2 ﬁl«‘[\:(tﬁ ﬁaf:;ZL;E[i mEs

3%
#H21FR AW (Z1#4R)

AW (Z1#{0)

VEYHR(ZHK)

95%KH#E x <HAZFflE =3.113 pfE =0.7945 BEEHE=6>

[£%#]
f37B (RUNTIARBISLSCEMNTERIGHH

g |EOTHE | | OB | EOBTR | g
£N

&k 2,833 275 27.0 12.7 31.0 18
A TR SEYBR(CH#HEK) 2,157 26.5 274 12.8 31.7 16
SEYBR(EH#HK) 234 24.4 33.6 12.6 28.9 05
VEYH (Z 1K) 311 32.9 220 11.9 29.2 4.0
VEYH (ZHE) 56 38.8 19.2 10.9 293 18
95%K#E O <hAZHfE =17.155 pfE = 00463 EFHE =9>
SRR R HEE 125 33.6 23.4 17.4 232 23
SR 327 30.2 25.1 15.4 27.2 22
—fE 1,757 26.6 27.9 10.8 334 1.3

95%7K#E O <AHAZ5RfE =20.136 pfE =0.0026 EEME=6>
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B W | BB D KR ek AL

3%

HHFSAL TR A=Y (Z 1)
A=Y (= 1# )
VEYH(ZHK)
VEYH(=#K)
95%KiE x <HA —FfE = 13822 pff =0.1288 EEE=9>

R REsE

95%7K#E x <A ZFfE = 2485 pfli =0.8701 BHHE =6>

(&%)
FI37D R THMMBTEAL . B MR TEHIBAH
EoTHtz L= | BSREE
EH o | Rk BB KR el EEE
2k 2,833 35.3 24.7 12.4 25.4 2.1

21 TR AW (Z )
AU (S 1)
VEYH(Z )
VEYH (=)
95%K#E x <HAZF(E=1022 pfE=0333 BHEE=9>

RS REE

95%7K#E x <HAZF(E=5108 pfE=053 BHE=6>

[£%]
FI87E KEEDERSALEIHSAN, MBEEMTHTNDBH

E EOLC\J%T: A D2 ﬁl«‘:‘\:(fi fia;ﬁl?[i mEs

3%

24 TR A=Y (ZHR)
SYH (ZHR)
VEYHR(ZHR)
VEYE (ZHK)
95%K#E X <H4ZFfE = 12098 pfE = 02078 EIEE =9>

EEREER

95%7K#E x <HA 5fE =3.068 pfiE =08003 BEEHE=6>

[£%]
FI87F (FRLUNT)BATHHEMRTESSM

s EOLC\JH’: D EL‘J’\:(E fﬁaf:,:z;%ri EEE
£

3%

A TR SYH (ZH#4K)
SYE (ZHK)
VEYH (Z )
VEYH (ZHAK)
95%7KH#E x <HAZFfE =4.339 pfl =0.8877 BHEHE =9>

RS REsE

95%7K#E x <A ZFfE =3.905 pfli =0.6895 HHEE =6>
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